JUFP STL A aSHIFEA L% R

N
PN an = | K= 5
QQ:286259397 MSN:cxI82116@msn.com

— REEWERE

Vector [ 4] € LR

vector<T, allocator <T> >

oAb R EA

vector() /175

vector(al) //48 7€ —Fl allocator

vector(n) JIHERN TORIUEAE n AT HR

vector(n, val) //H Val ¥4tk n ST

vector(n,val,al) //H val ¥iaatk n N E, H al i Bcss
vector(first,last)  //M\C A1 first 2 last & H 4L
vector(first,last,al) //M\CAH I first | last 4%, H al Bl 2%

—. BfE

1.IFRE N /25 ]
vecobj.reserve(N);

2,490 (EFSEAFR) BB REFE
capacity();

3.EHABAFA N

resize(N)

WA, WIHERZ 4. WRARK, WH TR
4755

clear();

TERE, clear()Hll resize()#AN— & 14453 vector A8 /)N, Z7 BB HUN 47, i ] vecobj.swap(vector<T,

A>())
5. AN ERITE

front() 55 back() A, BUm — A AT—NIcE, EEILIREDE S, ILM S 22 (1 value), A
LA, MRS vecobj.front() = 3; (454, (H ZEORIIE front S [814T28, & W4 JCVA T .«

6.5 {H

15 at W] DAMBUEERAE, at Sk, WA 2 out_of_range 157 #f throw

7.push_back, pop_back
BRIEA A2



8.f# /] assign

assign 1] LASCR R/ NFIFIMEL, K/NZBERR, A2 AR /N BRI, n v & 0, NG 7%
assign(5,0)3 vector 5k 5 MK/, FEF 0 A

assign(iax+3,iax+5); WAL 4 2 5 MHEA, FEAMLA I, RITHE] iax[3] 5 iax[4]
9.f H insert

insert(it, x),7F it AIHAAN— I x

insert(it,first,last), 7E it § i AN —/NJ3Fll[first,last) Zc 4] 45 FF

10§ H erase

erase(it) IR AL it ALHIICER, IRIMUEA T —JCF . WA intVec.erase(intVec.end()); - A2,
L MR —AN 2 Sl [first last), 1 F] erase(first,last)

11.BVector & vector<bool>FI¥HbIR, BAK @A

12.flip(HEFE—TTEK, K. M vecObj[ilflip();

13.swap. vecObj.swap(vecObij[i],vecObij[jl);

FEAEE /PR AN G HAE IR, T2 HE A, operator ==, U1

#include <vector>

#include <iostream>

#include <stdlib.h>

#include <time.h>

//#include <getopt.h>

using namespace std;

class Obj
{
public:
Obj(int x, inty, int z)
{
this->x = x;
this->y = y;
this->z = z;
}
bool operator == (const Obj & obj)
{
if(obj.x == x && obj.y ==y && obj.z == z)
return true;
return false;
}
int getX()
{
return this -> x;
}
private:
intx;
inty;

intz;



int main(int argc, char * argv[])
{
vector<Obj> vecObj;
Obj obj1(2,3,4);
Obj obj2(4,5,6);
vecObj.push_back(obj1);
vecObj.push_back(obj2);

vector<Obj>::iterator it =find(vecObj.begin(),vecObj.end(),0bj(2,3,4));
if(it != vecObj.end())

cout << (*it).getX() << endl;
return O;

list FZEA %

5 vector (IJHIEIEAA R, Forp i Z25m il — UK splice()RREL, A 4RAEHE € B 51— List
N BIF 8 A7 B IR HT I

splice(iterator it , list &x)

splice(iterator it, list &, iterator first)

splice(iterator it,list &x, iterator first, iterator last)

—. RAEWERE

typdef list<T, allocator<T>> listObj;

F4 15 PRE

list() //7%

list(al) /45 5€ allocator 453

list(n)//n NICE, FrAuHEASE TOHKH
list(n,val)//n INJCE, FTA GRS 2 T(val) ki)
list(n,val,al)//IF] I, JfF& % allocator 4y al
list(first, last) // & Hil#4)i%

list(first,last,al) //fii & allocator #4i

—. BfE

1.resize & clear

fii ] resize(n)2 A R/NN, AR resize(n, val) i SR 75 22 T(val) ACHEHE % RAE .



2.front ()& back()
W listObj JEH 0 4 % B2 —AN /e fH B 2L
3AEABRAE
insert(iterator it , val)
insert(iterator it, first, last)
insert(iteratot it, n, x)//4E A n > x
4.B%
remove(x); //vector.erase(integrator it)
HAEM
int iax[] ={3,4,5,6,6,7,8};
list<int> |0bj;
|0bj.insert(I0bj.begin(),iax, iax + 7);
|0bj.remove(6); //
R BATI

#include <iostream>
#include <list>
using namespace std;
// a predicate implemented as a function:
bool single_digit (const int& value) { return (value<10); }
// a predicate implemented as a class:
class is_odd
{
public:
bool operator() (const int& value) {return (value%2)==1; }
2
int main ()
{
int myints[]={15,36,7,17,20,39,4,1};
list<int> mylist (myints,myints+8); // 1536717203941
mylist.remove_if (single_digit); // 153617 2039
mylist.remove_if (is_odd()); // 3620
cout << "mylist contains:";
for (list<int>::iterator it=mylist.begin(); it!=mylist.end(); ++it)
cout << " " << *it;
cout << endl;
return O;
}
28K, XFT classis_odd, R PLE R
template <class T>
class is_odd
{
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mylist.remove_if(is_odd<int>());
5.unique #4E

// list::unique

#include <iostream>

#include <cmath>

#include <list>

using namespace std;

// a binary predicate implemented as a function:
bool same_integral_part (double first, double second)
{ return ( int(first)==int(second) ); }

// a binary predicate implemented as a class:
classis_near
{
public:
bool operator() (double first, double second)
{ return (fabs(first-second)<5.0); }
I8

int main ()

{
double mydoubles[]={ 12.15, 2.72,73.0, 12.77, 3.14,

12.77,73.35,72.25,15.3, 72.25};
list<double> mylist (mydoubles,mydoubles+10);
//UNIQUE LAHTAZE Sort, U118, B HI A FBSEILR 1i+1 BIT7K
mylist.sort(); /] 272, 3.14,12.15,12.77,12.77,
//15.3, 72.25,72.25,73.0, 73.35

mylist.unique(); /] 272, 3.14,12.15,12.77
//15.3, 72.25,73.0, 73.35

mylist.unique (same_integral_part); // 2.72, 3.14,12.15
//15.3, 72.25,73.0

mylist.unique (is_near()); // 2.72,12.15,72.25

cout << "mylist contains:";

for (list<double>::iterator it=mylist.begin(); it!=mylist.end(); ++it)
cout << " " << *it;

cout << endl;

return O;



6. P 1A

sort(); //ERIN3% operator <HEFF, M/NFK

sort(pr); //pr M Functional p{%§

7.Merge #4E

75 merge AT, FREX PN T operator <HEF, 45K, Rl LURE pr HEP RS
merge(s2)

merge(s2,pr);

8.reverse()

TR A AEBEA list Bl

deque FIFEA A

— REEWERE

typedef deque<T, allocator<T> > deqObj;
Foy i e

deque();

deque(al);

deque(n);

deque(n,x);

deque(n,x,al);

deque(first,last);

deque(first,last,al);

—. BE

l.resize & clear

{1 resize(n) S K/, AEH] resize(n, val) i R EEH] T(val) AR 22 N AH -

2.clear #1f

1F clear JG 1 deqObj.swap(deque<T,A>()) & &f 215, 1My H A — e BiX A4
3.font(),back(),operator [I,( W H 4L F, B N K & at()( W H L F o, W R
H ),push_back(),push_front(),pop_back(),pop_front(),insert(iterator it,x),insert(iterator
it,n,x),insert(iterator first,iterator last), (ffi N\ J5 5 [0 WG AN HIMHE) ) erase(it), BIERLE it 35 &7 B 1
{H, erase(iterator first,iterator last)lFR¥R a2 DX 0] (MR (/C A4 TF) o IXLEHAE S LT 454 5
A



Set 5 multiset )3 A E4E
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typedef set<Key, less<Key>, allocator<key> > setObj;

Fey e bR

set(); /4 set, % pred()HEF

set(pr); // A — 5 (1)3% pr FFFFI set

set(pral); //F W] —M% pr HEFPRIAEG ] al 201l

set(first,last)

set(first,last,pr)

set(first,last,pr,al)

A

1.clear()

2.erase(it); erase(first, last)

3.insert(key),JR[F{E 4 pair<iterator, bool> KM, WA HIMATTEMFEMITTER, second 4
true, LI first FEFUHHRAMI T E . HWY False, first 345 ) KRG 5

4 find(key)

5.lower_bound(key)

6.upper_bound(key)

7.equal_range(key), iz [F]-—4™ pair<iterator, iterator >(lower_bound(key), upper_bound(key))
8.count, equal_range [

9.key_comp, W15 k1 HEAE k2 (IHETTH, H54 key_comp()(keyl,key2)st A true
10.value_comp, ¥t T set<key>¥f %, ‘&5 key _comp —#f.

multiset

linsert, T insert S BETN, A IR AN TR T 11IEARES, M IFAE pair<iteraor, bool>
KA.

2.find IR[H 5 —AN 5 key AR HIEARTE .

3.equal_range ¥ 7] [0,setObj.size()) R F K 5.
4.count()¥i0][0,setObj.size()) FIF = -



